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1. Write short notes on the following :

et e s fevafri ferfan

(a) The Indian Councils Act, 1861.
TR aftwe srffam, 1861.

(b) Role of Bihar in the Quit India Movement.

TRA DSt Tale 1 forgr & yfirehr.

(c) Santhal uprising.
gt fergre.

(d) Patna Kalam painting.
T hetH Faehal.

(e) Artand Architecture of Mauryan Age.
Hreferreli el T TTdeehe.

2. (a) Describe the Champaran Indigo Movement and explain its impacts on the

Indian freedom struggle.
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olicy was responsible for the emergence of Indian

38

(b) How far the British p
National Movement ? Explain.
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3. (a) Examine the expansion of Western Education in Bihar from mid-nineteenth

century onward.
faram 4 s=frrefi s % gon 4 AW afeadl A F Ha FTET S

w
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)

(b) Assess the constructive works of Mahatma Gandhi.

TEe Ml F =405 S1E1 F1 AFad HIag, |
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4. Answer the following questions :

- -

TratatEa g 5 7 fll'iU :

(a) Discuss the direction of unity and coalition politics of opposition parties afier ihz

defeat of Aam Aadmi Party in Delhi Assembly Elections, 2025.

f
I

Teeeit faamaar 57 20251, AH ATEH 9 1 21 F =g faua = f1 e
AR T2E-a4 F1 TSI F e T =91 Hifu |

(b) Rassia-Ukraine war has completed three years, Throwing light on the causss &
this war, and discuss its effects on the World politics.

(¢) Maha Kumbh Fair was organized in India from Monday, 13 January, 202512

26 February, 2025. How was this fair a symbol of Indian culture, religious &~

and social harmony ? Explain with examples,
mmnmrmr 13 F941, 20255 26 Figh, 2025 % [z1 Frd g4 7
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(@) Throy detailed light on the neeq and importance of caste based Census in Bihar.

qmmmmmnm T4 3T

~ =~

AR me%aqmmmwu%amzﬁrﬁv |

S. (a) Uttarakhang has became the first state 1o implement the Uniform Civil Code in

India. Explain the Uniform Civil Code in this regard. Also explain with examples,

what changes will it bring to the Indian society on social, cultural, religious and

EASTALCLES smﬁmmiﬁmmmmmwmw% |
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(b) Discuss the Constitutional provisions governing Presidents Rule in India,
- ing reasons for the imposition of Presidents Rule in Manipur recenuy angd
giving

aluate its effectiveness in the present times.
also ev o i v - c .
-+ rofA TTEA 1 At F A aaammﬂmmamq;{’m
qrd 1 1% - 3 ~
% TTe2Afd TIEA T A F FR A mmmq%
- [ p <
71 4 7Y

& TEaiEA F
ey 71 1 A
e

a (T
2 urn
02/GO/CC/M-2025 " )

7

38

38



v

.E%
6. (a) Discuss the concept of ‘One Nation, One Election’ and its implication on

the federal Structure of India. What are the potential advantages and

disadvantages of synchronizing elections to the Lok Sabha and State
Assemblies ? Analyze.

O T, T T ) ST qe S 3 e g gk e o
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(b) Throwing light on the kr)éreasing women participatio

n in Indian politics and
society and the Women’s Reservation Act, 2023 (Nari

shakti Vandan Act, 2023),
Analyze the social, economic and political change

due to its implementation.

ﬂmﬂaﬂﬁ:ﬂﬁ@mﬁaﬁuﬁwmwmmmaﬁﬁw,
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s taking place in Indian society
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' didates appeared, qualified and
i onstrates the number qf can pear
T Tha . detl';tr'l‘ve examin tion from five States Delhi, Hnmaci;e:: tI?)razcéeosoh
selectedU ;{\ ap‘i‘;g‘g:h (U.P.) punjab and Haryana over the years 19 :
(H.P.), ar ’

[ iven below it :
Study the table carefully and answer the questions given be

Punjab Haryana

|
\ Qualified
\ Selected \
\ Appeareﬂ
Qualified |-
Selected
Appeared
Qualified
selected
ppeared
Selected

-~
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~500| 720 78 | 8200 <80 | 85 | 6400 | 700 D
55 =500 | 620 | 85 | 6800 500 | 70 | 7100 25;(; B
5 Tag00 | 400 48 5500 | 526 | 65 | 5200 3
— 000 | 650 | 70 | 7800 —20 | 84 | 6400 | 540 5
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[1eea | sow | se0 | o4 | 700 | w10 | sa | 7500 | 720 | 78 | 8200 | 680 | 85 6400 | 700 | 75
11008 | 4800 | 200 | 48 | 7500 I 00 |68 | 5600 | 620 | 85 | 6800 | 600 | 70 | 7100 | 650 75
L — - —.*~ —

1998 | x\\‘i Q40 | ]2 | 7400 | 500 | 70 | 4800 | 400

A B R

18 1 6500 | 525 | 65 | 5200 | 350 | 55
{1997 | 2500 | 880 | 90 | 8800 | 920 |86 | 7000 | 650 | 70| 7800 | 720 | 84 | 6400 | 540 | 60
73888 | 9000 | 800 | 70 | 7200 | 50 | 75 | 8500 | 950 | 80 | 6700 | 485 | 60 | 4500 | 600 | 75
| 1908 | 9200 | 780 | 78 | 8000 | 570 | 80 | 2000 | 920 | 75| 6000 | 490 | 66 | 5500 | 650 | 80

{ 2\\‘@:3\“0\‘\‘50 72| 8300 | 900 | 88 | 8000 | 900 | 82 | 6300 | 500 | 62 | 6000 | 620 | 78

a) Forwhich State the average number of candidates selected over the years is
maximum ?
Aﬁc ——y L—

6
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For which year the percentage of candidates qualified from Haryana over the
candidates appeared from Haryana is highest ?

e ad % R sfaon [ oa e el g § it sefieary °

~ - e
w yiaTd fuwan 3 ?

&) Inthe year 1999, which State had the lowest percentage of candidates Selecteq
over the candidates appeared from that State ?

aéagggﬁﬁwmﬁwﬁaﬁaﬁm\wmﬁmﬁam@ﬁ“gﬁ 6

(d) For which State the ratio of candidates selected and the candidates qualifian
highest for the year 1997 ‘?‘ ‘ ifieq ig
S s ¥ foa @ 1997 § Wi I ol s .
SR R 7 R N
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(f) Find the ratio of the total candidates selected, qualified and appeared from U.p.
during the year 1994 to 2000.

a4 19948 2000 H A 3.9, A Tt TR, g we e wnfirer Iefiea
&1 3T T HIRA |
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The bar diagram given below shows the production (in tons) of three Crops — paddy
wheat and maize during the year 2002 to 2005 in a country. Study the diagranr;
carefully and answer the questions given below it :
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(a) What is the ratio of total production of paddy,
during the year 2002 to 2005 ?

< A 7 2002 2005 % A 4, T 3R W % o1 Seare s
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. e of the total production of th
(b) The total production of maize is what percentag

: ion ?
three crops during the years under consideration

: : Jeared &1 fepadl
e =t 26 S Wbt w1 et SeaTEd, A BEE B B =l
yfawd & ?

tion
(c) The average production of wheat is what percentage of the average produc
of paddy during the years under consideration ?

ﬁam%ﬁqaﬁé;amﬁiaq 3T IUTEH, U 3NEd IcaTe 1 TohaaT gfasa
2 7

(d)

What percentage of the production of maize should be increased or decreased,
so that the total production of maize is exactly half of the total

production of paddy
in the country during 2002 — 2005 ?

(e) If in the year 2004, the production of wheat is increased by 50%

and the
production of paddy is decreased by 40%, then the production of paddy will be
what percentage of the production of wheat ?

afe T4 2004 T T I I 50% o AT | o oy

. PN ST 40% w57y 7y
ST 2, A T R I, g % Ieare 1 R Whver gy ?
8. The following pie-charts represent the expenditure (in ry

. Pees) of two £
B. Study the charts carefully and answer the questions

' amilies
given below th Aang

em:

; . 30,000) (Total Expenditure : Rg
diture : Rs. 92U
(Total Expen
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(@) What is the total expenditure of the two fai_nilies (in rupees) on food ? 6

?ﬁrwﬁiﬁm (Wﬁ)ﬁmm% ?

:ﬁ\ (b) The total expenditure of the two families on fuel is what percent of the total

expenditure of the two families on clothing ?

éﬁqﬁaﬁﬁﬁmﬁgpﬂ&ﬁ@ﬁmmﬁ@%@ﬁmmm%?

6

(c) If the expenditure of the two families on food and house rent is increased by

20% and 30% respectively, then what will be the percentage increase in the total

expenditure of the two families combined ?
ﬂﬁaﬁqﬁﬂfﬁ%‘ﬁm@‘w%ﬂmﬁéﬁmmﬁm: 20% Td 30% i

7t R, 2 R ) e o 35 % ey et s et ST
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arcentage of expenditure on Miscellaneous should be decreased by the two
p .
families separately, so that thejr total expenditure remains the same ?

aﬁwﬁaﬁﬁmméﬁaﬁmﬁw%ﬁqﬁﬁaﬁﬁ% | S afem
3ﬁﬁn—3ﬁﬁﬂ1%ﬁﬁﬁltﬁﬁ'ﬁ”€ﬁ??ﬂéﬁiiﬂﬂiifﬁﬁaﬁ-fﬁiiﬁ‘ﬂﬁﬁ?ﬁifﬁisﬁﬁi?ﬁTtﬂﬂl,?Tﬂ%B
T T 1 IuiEfia @ o

e ratio of their tota| expenditures
on food, clothing and house rent.
e T aRE v, HAS T THH
20% T 30% 1 i B SIreft 2, A 5k WIS,
T = g-awaqm BISEEDIE ol

Or/ 31eay

The following graph shows the exports from three com

Panies X, Y and z (in Rs.
Crores) during the year 1993 to 1999. Study the graph carefully and answer the
Questions given below it :
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(@) Which Company haqg the Steepest rise in ;

year and in which year ?
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(e)

year 1
7inthe Y€
6 1996 3

ar 1996 ?

Ifin1992,the exportb

by the company X was 3

(in Bs. crores) between

so that their expo

Gaset x den Y gl AT
P 1996 H FF! 7 g TR, T,

r should be increased by the companies X and Y intho

rt becomes double of the axport done by company

i w1 e wiferr g 0, fo
Ergta @ @l T 7 S 1
and tho oxport

ho difforonco

ythe company 7 was 30% less than thatin 1 993
0% more than that in 1993, then what wast
anies Z and % jn tho yoar 19927 8

41 el X i
d X fafe 7

the exports by the comp
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